R	evelry Event Designers				IN-0005746		
La	504 Medford St. os Angeles, CA 90063 223) 263-1657			RLE Events			
09/02/2023 01:00 PM Install Day 1 09/03/2023 07:00 AM Install Day 2 09/03/2023 05:00 PM Event		PO: Shipping Address: Stephen Wige Temple		Invoice Date: Due Date : Upor	n Receip	ot	
09/04/2023 09:00 A	-	Stephen Wise Temple		Salesperson: Angela Mure		Aurelli	
Description			Qtty	Price		Total	
Sept 3rd - Cocktail	ls						
	Top Hats - Monaco - Black	< Velvet	1	\$650.00	Т	\$650.00	
	Accent Table - Las Vegas **Client to cover in decal image	Square Mirrored	4	\$75.00	Т	\$300.00	
	Ottoman Pod 18"D - Asso	rted	8	\$50.00	Т	\$400.00	
	Amsterdam Pipe Bar - Bla	ck w. Silver Footrest	2	\$950.00	Т	\$1,900.00	
	Straight Barback 8'L - Silve	er	2	\$250.00	Т	\$500.00	
r F	Dining Chairs - Beverly Hil	ls - Clear	36	\$22.00	Т	\$792.00	
			Total Sept 3rd - Cocktails		ails	\$4,542.00	
Sept 3rd - Main Ar	ea						
	Perimeter Drape - Black V	elvet	1	\$12,500.00	Т	\$12,500.00	
	Perimeter Valance - Black	Dupioni	1	\$2,300.00	Т	\$2,300.00	
	Stage Backdrop - Hexago Light up Paneling; black backgro 48"W x 141"H	-	4	\$650.00	Т	\$2,600.00	
	Dj Booths - Nice - Oval Lig	ht Up - Silver	1	\$450.00	Т	\$450.00	
	Berlin Serpentine Sofa (3	pcs) - White	1	\$550.00	Т	\$550.00	

Description		Qtty	Price		Total
	Dubai Coffee Table - Black with Retro Stripes retro arcade stripes on coffee table top in the colors of the party	3	\$250.00	Т	\$750.00
	Dubai Accent Table - Black w. Retro Stripes retro arcade stripes on the table top in the colors of the party	4	\$125.00	Т	\$500.00
	Ottoman Pod 18"D - Assorted	14	\$50.00	Т	\$700.00
T	Las Vegas Cocktail Table - Painted TBD	8	\$275.00	Т	\$2,200.00
		Total Sept 3rd - Main Area		irea	\$22,550.00
Sept 3rd - Kids I	_ounge				
	Strings Hard Panel - Asymmetrical Strings 4'W x 14'6"H (2) Bright Blue, Yellow, Green (2) Bright Blue Orange, Green	4	\$650.00	Т	\$2,600.00
	Barback - Curved Alcove w. Shelves 15'W Exterior Painted Black Interior Painted TBD Added LED light in Warm white to the perimeter	1	\$3,675.00	Т	\$3,675.00
	Las Vegas (Paintable) Dining Table - 8'x40" for the merch station in-front of barback shelving TBD Color	1	\$500.00	Т	\$500.00
	Bright Blue Round Booth (2pcs)	4	\$600.00	Т	\$2,400.00
	Las Vegas Coffee Table - Mirrored Round Large **Client to add decal to the tops and sides	4	\$250.00	Т	\$1,000.00
	Ottoman Pod 18"D - Assorted	20	\$50.00	Т	\$1,000.00
		Total Sept 3rd - Kids Lounge		\$11,175.00	
Sept 3rd - Adult	Lounge				
	Strings Hard Panel - Asymmetrical Strings 4'W x 14'6"H (2) Bright Blue, Yellow, Green (2) Bright Blue Orange, Green	4	\$650.00	Т	\$2,600.00
	Barback - Curved Alcove w. Shelves 22'W Exterior Painted Black Interior Painted TBD Added LED light in Warm white to the perimeter	1	\$5,500.00	Т	\$5,500.00

Description		Qtty	Price		Total
	New York Bar 8'L - TBD Color **Client to add Decal to front and sides	2	\$950.00	Т	\$1,900.00
	New York Bar 6'L - TBD Color **Client to add Decal to front and sides	1	\$850.00	Т	\$850.00
P	Beirut Sofa - Curvy Black Boucle	4	\$550.00	Т	\$2,200.00
	Bruges Coffee Table - Painted Black **Client to add Decal to front and sides	4	\$250.00	Т	\$1,000.00
	Dubai Accent Table - Black w. Retro Stripes retro arcade stripes on the table top in the colors of the party	4	\$125.00	Т	\$500.00
0	Rome Ottoman - Black Boucle Large	4	\$175.00	Т	\$700.00
66	Rome Club Chair - Black Boucle	4	\$275.00	Т	\$1,100.00
	Ottomans - Beirut - Black Boucle	12	\$85.00	Т	\$1,020.00
	Dining Chairs - Beverly Hills Clear	27	\$22.00	Т	\$594.00
	Bright Blue Round Booth (2pcs)	3	\$600.00	т	\$1,800.00
	Las Vegas Round Dining Table (Paintable) 66"D - TBD Color	3	\$500.00	Т	\$1,500.00
		Total Sept 3rd - Adult Lounge		nge	\$21,264.00
Services					
	Installers: Install (2) Days	10	\$1,000.00		\$10,000.00
	Installers: Strike (1) Day	10	\$450.00		\$4,500.00
	Trucking: 24'L	4	\$450.00	Т	\$1,800.00
	Trucking: Fuel Surcharge	4	\$65.00	Т	\$260.00
	JR Manager: Onsite for (2) Days	1	\$1,000.00		\$1,000.00

Description	Qtty	Price	Total
Manager: Layouts & Design	1	\$1,500.00	\$1,500.00
Custom Artwork: Hand Painting Details	1	\$750.00	\$750.00
Certificates: Flame Proofing	1	\$750.00	\$750.00
Supplies: Misc	1	\$650.00	\$650.00

Please make checks payable to Revelry, Inc. **Total Products:** \$59,531.00 Total Labor/Services/Misc: \$21,210.00 Note: Prior to deliveries and pick-ups all invoices must be pay in full Taxes : \$5,834.03 Please ready the contract and sign it Discounts: (\$180.18) Notes Total: \$86,394.85 Payments: (\$1,500.00) **Balance:** \$84,894.85